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Block pictures: tens 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

                  

      Block Pictures 100s 



  



Dice Games 
 
Simple addition 
Each player takes turns to roll 2 dice. 
They add the total of the 2. 
The winner of each round gets a tick in the box. 
At the end of 5 rounds, add up the number of ticks and see who has the most. 
The one with the most ticks is the winner. 

2 + 2 = 4  

  

  

  

  

 
Simple subtraction 
The same as simple addition, but instead of adding, take the lowest number from the highest. 
Whoever gets the lowest score for each round wins that round. 

6 – 3 = 3  

  

  

  

  

 
Running total addition 
Who gets the highest score after 3 rounds? (or more) 

5 + 6 = 11 11 

3 + 5 = 8 19 

4 + 5 = 9 28 

  

  

 
 

 



Expanders 

 

 

 

 

 

 

 

 

 

 

 

             Number chart 1 - 10 
 

 



 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Times Table Grid 



 

Solving Problems Year 3 Set A 

1. When cooking cassava, you need 6 cups of water for every cup of cassava. If you cooked 4 cups of cassava, how many cups of water do you need? 

2. I think of a number, then subtract 17. The answer is 42. What was my number? 

3. A spider has eight legs. How many legs have 9 spiders? How many do 16 spiders have? 

4. Stefan has 42 toy cars. James has half as many. How many cars has James? 

5. There are six eggs in a box. How many eggs in 8 boxes? 

6. Mere wrote eight words on every line. How many words did she write on 12 lines? 

7. Emily had two 20c coins, three 50c coins and $1. How much money did she have? 

8. Litia bought 8 chocolate bars at 25c each. How much did they all cost? 

9. Peter scored 3 goals in the first half and five in the second half. How many goals did he score altogether? 

10. Alex bought an ice-cream for $1.20 and a chocolate bar for 25 c. How much did it cost altogether? 

11. Jeremiah travelled 172 kilometres by bus and then 22 kilometres by car. How far did he travel altogether? 

12. Red team had 104 house points and Blue team had 79. How many more points did Red team have? 

Problem solving Year 3 Set B 

1. You get 65 cents change from $2. How much has been spent? 

2. Write 1700g. to the nearest kg. 

3. Divide $3 by 6. 

4. Take 6 plus 5 from the total of 8 and 17. 

5. How many seconds in a) half a minute? b) 1¼ minutes? 

6. Find the sum of the odd numbers between 56 and 60. 

7. Find the cost of 2½ kg at 25 cents per kg. 

8. What must be added to 5 plus 80 to equal 5 multiplied by 80? 

9. If 2 litres of juice cost $2.20, find the cost of half a litre. 

10. Find one sixth of 84.  


